Μετάτρεψε τα μήκη.


23 δεκ. =                               εκ.
5600 δεκ. =                           μ
50 εκ. =                                   χιλ.
76 μ. =                                    χιλ.
84 εκ. =                                  χιλ.
980 δεκ.=                              χιλ.
561 μ.=                                  εκ.
760 δεκ. =                             χιλ.
8430 εκ. =                             δεκ.
7000 χιλ. =                            μ.
800 εκ. =                                μ.
90 δεκ. =                                μ.
90 μ. =                                    δεκ.
870 εκ.=                                 δεκ.
6700 χιλ. =                            εκ.
6700 χιλ. =                            δεκ.
6700 δεκ. =                          μ.
6700 μ. =                              δεκ.
670 εκ. =                              χιλ.
500 χιλ. =                             εκ.
500 χιλ. =                             δεκ.
123 μ. =                                χιλ.
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